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SSC SUNDAY ENGLISH MEGA QUIZ

Direction (1-10): In the following questions, some part of the sentence may have errors. Find out
which part of the sentence has an error and select the appropriate option. If a sentence is free
from error, select 'No error".

Q1. Although the police department was accused of (A)/ a variety of sundry charges, but there was
not sufficient evidence (B)/ to bring a case against any of the officers. (C)/ No Error (D)

(a)A

(b)B

(c)C

(dD

Q2. While the film claims to be a varitable encyclopedia of (A)/the politician’s early years, it is
actually a (B)/ fictionalized tale penned by a tabloid writer. (C)/ No Error (D)

(a)A

(b)B

(9C

(d)D

Q3. What is happening now is a clash of ideas between one set of professionals committed to (A)/
knowledge production for public good after another set of (B)/partisan groups involved in
ignorance production for political longevity. (C)/ No Error (D)

(@) A

(b) B

(cC

(dD

Q4. Wild yak was erroneously described as an (A)/ endanger species in a Science & Technology
page story (B)/ titled “Why did woolly rhino go extinct?” (C)/ No Error (D)

(a) A

(b) B TEST SERIES

(©C Bilingual

(d)D

Q5. A stroke consists of four components (A)/that have to be S S c

completed perfectly to (B)/propel the boat forward as fast as

possible.(C)/ No Error (D) KA S 0 0 R M A

(a)A
Eb)) B CHSL TIER-I
c)C

(4D 125+ TOTAL TESTS
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Q6. The problem is nothing else than a repeated attempt (A)/ to give a satisfactory answer to the
question (B)/ of how prices are related to labor values. (C)/ No Error (D)

(a) A

(b) B

(c)C

(d)D

Q7. Whatever may be the shape or size of the particles, (A)/ there is no scattered light in a
direction more parallel (B)/ to the primary electric displacements.(C)/ No Error (D)

(a)A

(b)B

(c)C

(d)D

Q8. He allowed me to speak and after a month (A)/ he appreciated me for supplementing the (B)/
questions of the most appropriate points. (C)/ No Error (D)

(a)A

(b)B

(c)C

(d)D

Q9. They are faced with the task of dismantling (A)/ the state machineries in order to create (B)/
more democratic structures. (C)/ No Error (D)

(a)A

(b)B

(cC

(d)D

Q10. Economic Survey 2019 estimates that India’s (A)/ demand for total material would double
(B)/ by 2030 at current rates of growth. (C)/ No Error (D)

(a)A

(b)B

(c)C

(d)D

Direction (11-20): Improve the bracketed part of the sentence.

Q11. In addition to the physical ruin, (there were the collapse of) the ideology which had been so
prominent.

(a) there is a collapse of

(b) there was the collapse with

(c) there was the collapse of

(d) No improvement

Q12. Human beings are social animals, (who are living in communities), regulated by social norms
and laws.

(a) living in communities

(b) living amongst a community

(c) living in midst of communities

(d) No improvement
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Q13. These troubles are a direct consequence of the country's prolonged domestic recession and
(faltering economics recovery).

(a) faltering economic’s recovery

(b) faltering economic recovery

(c) faltering economical recovery

(d) No improvement

Q14. Higher crude oil prices have doubtlessly provided a significant fiscal boost in the past several
months, although any (flair on) going forward can lead to a price spiral that would have other
untoward consequences as well.

(a) flair in

(b) flare at

(c) flare up

(d) No improvement

Q15. He started at the (bottom rung of the ladder) and then gained success.
(a) bottom rung of the stair

(b) lower rung of the ladder

(c) lower rung of the stair

(d) No improvement

Q16. Finally, in comparative perspective, I think there is good reason to believe that such (stand-
outs) can be resolved through negotiation.

(a) stand-downs

(b) stand-ins

(c) stand-offs

(d) No improvement

Q17. He said that the (two barrage on rivers) Kosi and Gandaki near the India-Nepal border are
operated by Indian authorities.

(a) two barrages in rivers

(b) two barrages on rivers

(c) two barrages under rivers

(d) No improvement

Q18. Mr. Thakur withdrew his submission without giving adequate time to the editorial team (to
examine either his) counterarguments or get Ms. Raghu’s response.

(a) to examine his either
(b) to either examine his TEST SERIES
(c) either his to examine Bilingual
(d) No improvement

—

.

Q19. The issue was not resolved, but the discussion (was helped S S c
in realizing) the growing distance between the two strands of
thought and the strain of this on the information ecology. K A S 0 0 R M A

(a) helped to realize to

(b) was helped to realize CGL & CHSL TIER-I

(c) helped in realizing

() Noimprovement 185+ TOTAL TESTS
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Q20. Their need for sensation is fulfilled by various media, (which has fostered) a society of
disposable emotions and short attention spans.

(a) which fosters

(b) which is fostered

(c) which have fostered

(d) No improvement

Direction (21-30): In these questions a sentence has been given in Active/Passive Voice. Out of the
four alternatives suggested below, select the one which best expresses the same sentence in
Passive/Active Voice.

Q21. Let me do this.

(a) I want me to do this.

(b)This should have been done by me.
(c) Let this be done by me.

(d) Let this done by me.

Q22. The tiger caught a fox.

(a)A fox has been caught by the tiger.
(b)A fox was caught by the tiger.

(c) A fox is caught by the tiger.

(d) A fox had been caught by the tiger.

Q23. Someone has lit the fire.

(a)The fire has to lit by someone.

(b)You are requested to lit the fire by someone.
(c) The fire has been lit by someone.

(d)The fire had been lit by someone.

Q24. They have been performing a drama at the stage.
(a) A drama has been performing by them at the stage.

(b) A drama at the stage has been performing by them.

(c) A drama has been performed at the stage.

(d) They have been performing a drama at the stage.

Q25. The reporter was interviewing the political leaders.
(a) The political leaders were being interviewed by reporters.
(b)The political leaders were being interview by the reporter.
(c) The political leaders were being interviewed by the reporter.
(d)The political leaders were being interviewing by the reporter.

Q26. The beavers have built a perfect dam across the stream.
(a)A perfect dam has been built by the beaver across the stream.
(b) A perfect dam has been built by the beavers across the stream.
(c)A perfect dam have been built by the beavers across the stream.
(d) A perfect dam has been built by the beaver across a stream.
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Q27. You should follow all the instructions carefully. TEST SERIES
(a) All the instructions should followed by us carefully. Bilingual
(b) All the instructions should follow carefully.

(c) All the instructions should be followed carefully.
(d) All the instruction should be followed carefully.

Q28. They have made a film based on this novel. KA S 0 0 R M A

(a) A film has been based on this novel and made. _
(b) A film has made based on this novel. CHSL TI ER I

(c) A film has been made based on that novel.
(d) A film has been made based on this novel. 125+ TOTAL TESTS

Q29. Why haven’t they allowed you to go?
(a) Why you haven’t been allowed to go?
(b)Why haven’t you been allowed to go?

(c) Why haven’t you been allow to go?
(d)Why you haven'’t been allow to go?

Q30. Tobacco manufactures are making considerable efforts to gain new clients.
(a) Considerable efforts are being made by tobacco manufactures to gain clients.

(b) Considerable efforts are being made by tobacco manufactures gain new clients.

(c) Considerable efforts are being made by tobacco manufactures to gain new clients.
(d) To gain new clients by tobacco manufactures considerable efforts are made.
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